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Worksheet 3:  Use the order of operations (MDAS) to solve the following problems.     

 

   

 

 

 

 

 

 

 

 

 

                                                                                                                                                                        

                

 

   

 

 

 

 

 

 

1. 180 - (-40- 30)   = 

2.  18 + (-3) X   (36 – 6) = 

 6. (4300) X (-300 + 4000) =  

3. -4000 + (10000 - 6000) = 

. 4. (-40) - (-920) = 

 

5. (-6000) + (-7000 + 1000) = 

 7. (3000) ÷ ((1000 + (-4000)) =  

 8. 12000 ÷ (15000 - 3000) =  

 9. -36000 + (600 X 60)  

10. 1 ÷ (-9 + 8) =  

Use this space for your solution. 
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Answer Key: 

 

Worksheet No.3 

1.250                          2.450                         3.0                 4. 880 

5.-12000                     6.15,910,000              7. -1               8. 1 

9. 0                            10. -1 

 

 


